

Vendor Ranking

Page 1 of 1

Letting: 08250610 June 10, 2025 02:30 PM **Call Order**: 008 **Contract**: E8W30-R0

District: Turnpike Counties: INDIAN RIVER, MARTIN, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

OKEECHOBEE,

Project(s): 19077445248 (*)

Contract Desc: Pond and Canal Re-Re-Establishment - Zone 2

OSCEOLA, PALM BEACH, ST LUCIE, TURNPIKE

Rank	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MIDWESTERN CONSTRUCTION, INC	Responsive	Winning bid	\$483,612.00	100.00% Intent to AW
2	HIGHER GROUND LAND SERVICES, LL	Responsive	Non-Winning Bid	\$495,355.70	102.43%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$510,953.00	105.65%
4	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$650,520.00	134.51%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: JUNE 17, 2025 AT 4:00 PM



Tabulation of Bids

Letting: 08250610 June 10, 2025 **Call Order:** 008 **Contract:** E8W30-R0

District: Turnpike Counties: INDIAN RIVER, MARTIN, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

OKEECHOBEE,
Project(s): 19077445248 (*)

Contract Descr: Pond and Canal Re-Re-Establishment - Zone 2

OSCEOLA, PALM

The work specified on this Contract consists of providing all labor, materials, equipment and incidentals necessary to perform the re-establishment of wet stormwater ponds, canals, and roadside ditches, at various locations on Florida's

Turnpike (SR 91), milepost 100.0 to 200.0.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS CONTRACT

Line No / Item ID Alternate (Item Description	Quantity Units	(1) MIDWI CONSTRUC		(2) HIGHER GF SERVIC		CONSULTING	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount		_C Ext Amount
SECTION: 0001 (ROA	ADSIDE DI	TCHES-CLEAN AI	ND RESHAPE (LI	=			
0005 0107 1 LITTER REMOVAL	100.000 AC	30.00000	3,000.00	25.00000	2,500.00	7.00000	700.00
0010 0110 2 2 SELECTIVE CLEARING AND GRUBBING AREAS WITH TREES TO REMAIN	20.000 , AC	4,000.00000	80,000.00	3,000.00000	60,000.00	1,860.00000	37,200.00
0015 0120 5 CHANNEL EXCAVATION	200.000 CY	80.00000	16,000.00	35.00000	7,000.00	44.00000	8,800.00
0020 0120 10 11 CLEAN AND RESHAPE DITCH, SPREAD, DITCH WIDTH UP TO 15'	100.000 LF	4.00000	400.00	3.88900	388.90	4.00000	400.00
0025 0120 10 12 CLEAN AND RESHAPE DITCH, SPREAD, DITCH WIDTH 15-30'	100.000 LF	5.00000	500.00	4.10900	410.90	4.00000	400.00
0030 0120 10 13 CLEAN AND RESHAPE DITCH, SPREAD, DITCH WIDTH GREATER THAN 30'	100.000 LF	6.00000	600.00	6.99900	699.90	4.00000	400.00

Page 1 of 5



Tabulation of Bids

Page 2 of 5

Letting	9: 08250610	June 10, 2025	Cal	Il Order: 008		Contract:	E8W30-R0	
	No / Item ID Alterr Description	nate Quantity Units	(1) MIDWESTERN CONSTRUCTION, INC		(2) HIGHER GROUND LAND SERVICES, LL		(3) ROGAR MANAGEMENT & CONSULTING OF FLORIDA	
	icates item is bid as Lump Su		Unit Price	Ext Amount	Unit Price	Ext Amount		_C Ext Amount
	SECTION: 0001	(ROADSIDE DI	TCHES-CLEAN A	ND RESHAPE (LI	=			
CLEAN A	0120 10 21 AND RESHAPE DITCH, F VIDTH UP TO 15'	100.000 IAUL, LF	6.00000	600.00	8.00000	800.00	7.75000	775.00
CLEAN A	0120 10 22 AND RESHAPE DITCH, F VIDTH 15-30'	100.000 IAUL, LF	6.00000	600.00	12.00000	1,200.00	7.75000	775.00
CLEAN A	0120 10 23 AND RESHAPE DITCH, F VIDTH GREATER THAN		6.00000	285,912.00	8.00000	381,216.00	7.75000	369,303.00
	E106 22 5 AL & DISPOSAL MATERI	30.000 ALS CY	200.00000	6,000.00	38.00000	1,140.00	100.00000	3,000.00
	E110 2 NG & GRUBBING	20.000 AC	4,500.00000	90,000.00	2,000.00000	40,000.00	4,460.00000	89,200.00
	01 ROADSIDE DITCHES EAN AND RESHAPE (LF		I	\$483,612.00		\$495,355.70		\$510,953.00
	Contract	Grand Totals:		\$483,612.00		\$495,355.70		510,953.00



Tabulation of Bids

Page 3 of 5

Letting: 08250610 June 10, 2025 Call Order: 008 Contract: E8W30-R0

Letting:	08250610 ,	June 10, 2025	Cal	l Order: 008		Contract:	E8W30-R0	
Line No / Item I		Quantity Units	(4) T & M LA SERVIC					
() indicates item i	s bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N: 0001	(ROADSIDE DI	TCHES-CLEAN A	ND RESHAPE (LI	=			
0005 0107 1 LITTER REMOVAL		100.000 AC	40.00000	4,000.00				
0010 0110 2 2 SELECTIVE CLEAR AREAS WITH TRE	RING AND GRUBE	20.000 BING, AC	4,000.00000	80,000.00				
0015 0120 5 CHANNEL EXCAV	ATION	200.000 CY	20.00000	4,000.00				
0020 0120 10 1 CLEAN AND RESH DITCH WIDTH UP	IAPE DITCH, SPR	100.000 EAD, LF	4.00000	400.00				
0025 0120 10 1 CLEAN AND RESH DITCH WIDTH 15-3	IAPE DITCH, SPR	100.000 EAD, LF	6.00000	600.00				
0030 0120 10 1 CLEAN AND RESH DITCH WIDTH GRE	IAPE DITCH, SPR	100.000 EAD, LF	7.00000	700.00				
0035 0120 10 2 CLEAN AND RESH DITCH WIDTH UP	IAPE DITCH, HAU	100.000 L, LF	6.00000	600.00				
0040 0120 10 2 CLEAN AND RESH DITCH WIDTH 15-3	IAPE DITCH, HAU	100.000 L, LF	7.00000	700.00				
0045 0120 10 2 CLEAN AND RESH DITCH WIDTH GRE	IAPE DITCH, HAU	47,652.000 L, LF	10.00000	476,520.00				



Tabulation of Bids

Page 4 of 5

Letting:	08250610 Ju	une 10, 2025	Ca	II Order: 008		Contract:	E8W30-R0		
Line No / It		Quantity Units	(4) T & M LA SERVIO						
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SEC	CTION: 0001 (ROADSIDE DI	TCHES-CLEAN A	ND RESHAPE (LE	=				
	22 5 DISPOSAL MATERIALS	30.000 CY	100.00000	3,000.00					
0055 E110 CLEARING &		20.000 AC	4,000.00000	80,000.00					
0001 ROADSIDE DITCHES- Section Totals: \$650,520.00 CLEAN AND RESHAPE (LF)									
Contract Grand Totals: \$650,520.00									



Tabulation of Bids

Page 5 of 5

Letting: 08250610 June 10, 2025 **Call Order:** 008 **Contract:** E8W30-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.